. H = % - - . 5 ~ . A
GEZ Y gfyﬁé_ii Gafom G v F v

4 "
1. () L.ist he tests fegu/re,a/ ‘o deterrr e Synchrornous
/f;v/oea’ance of ar a_/v‘er/%u‘o/j

by What /ey be deterr,med fram each Hest ?

(207;)
. A -f/’fea“/?/”é\5e 7= connected Sync};honous motor has
/)e,g/r'gzl‘/e armature (esistance and A Syhc/;ranous

tea.ctarce of /2 -Q/P/IaSe. The motor takes /2/000 él’\/ al

a [ine voltage Of /JJ)ZOOV. If the ]ﬁ/‘e/c/ CL///‘eff(.l /5 adjysted

SO that the exc'tator Vo/—/aje /8 AZZ, l//&/mse,
(& What /s +be forgue  Aangle ?

by At what fowe/- facv‘ar /s 1he motor O/;e/raﬁhg?
e What s its

Armatu re CL//’/"e/)Z( ? (/S~}>
3. Calculate 1he relotive vValves

of e 51%&;»-//)73 %or?ye,
and +the S#ar%/h? currert 075 A 7"6/‘6@«/94&59/ S?u/r/ae/_.
cage imdiuctrion  tretor  cober Sta,ted by
(r) tated Ve MHage.

(b) A Star- de /s 5%4/—7‘e_r/ and
cey o —/—hree—/b/lase, a.uz‘o+ran$]@rm6/"

Aﬂ.\//'f?? &0 A Va/-/qﬁe‘
éa/QS.

(/5%)

(Fai A2 B o

e
£ &
&

b ST AER)




E A" M KR k= A
@ 'E%—q—,_}z 2;};}:};@;; % %Z‘f] ”T \(/@/ j~éﬁ‘) 3;0\ 33 ﬁg *: = —ﬁ

4 #o B AT A =]
w Z 5 S, =-5” P2 9 w’—“v‘ S,

b F P KT WL o=/08 — -
II,/=/0/"’ﬁ’j/@,/=? @4’3?77//4
(SI :P/*J;Ql) (7%)

i 7, HB 48 2B A 20,
gL ez A 5 7T BA

£ oo kom, HHJE EIKY ABR Lotz A K £ & A= %

5.

% 4 = )lgl X -
o ABAME THEAE T H=e RN
. 7 \
AR %) g
z,’%/ /a\uru Gind / /?M J9m /{m
i
ST ////
Fpmok g A A
£ 5 A
6. 4n b U
B0 G, : 30omp, >0V 2, 005p0
M s >0 MVA [38KV, 2 = 008p0. ; e
Ma:sooMVA 13 gkv 3, =0085p0. (wk") —rl (3°kv) Tl _LO y,f.gr
éfﬂMuﬂﬁﬂ§%% gl Gz r M
AYy gra QY

W EAG o gn(, DLWy, M2 3] ¥ 3% 4,14 VIHLEL R 7L
UL Rl7 T REHA 1pu.

oty sy SXC ST 2 25
/f %ﬁ 3J’k\//300MV/4 kﬁ;{kﬂ,dl/ 0//70 YAJZ» ’%ﬁj‘f’fif';ﬁﬂfﬂw
L LR /55,

A Y 2o g ot > R A i ('/;/)






